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QUESTION 1

Refer to the exhibit. 

A network operator uses TACACS for authentication and authorization. While troubleshooting a NetFlow problem, the
operator was requested by Cisco TAC to get the output of show tech- support netflow. The exhibit shows that the
command failed with a message "% This command is not authorized." The operator is logged into the router with
privilege 15 user account defined in TACACS. What is the most likely reason for this? 

A. The router is missing a software package information envelope (PIE) necessary for NetFlow. 

B. NetFlow is not configured on the router. 

C. The operator has to log into the router by using a local username. 

D. The usergroup priv15 command is not configured properly. 

E. show tech-support netflow is not a supported command. 

Correct Answer: D 

 

QUESTION 2

A service provider upgraded its core routers to CRS-1. The service provider connects the CRS-1 to an internal network
via CRS-1 management ports. This internal network is configured with private IP addresses. All SSH access from a
service provider workstation that is incoming to the management ports of the CRS-1 routers was tested and was found
to be working properly. The routers were configured for AAA by using the Cisco Secure Access Control Server, and
AAA was working as desired. Furthermore, SNMP traffic used the inband 10-Gigabit Ethernet ports, and all SNMP
functionality was properly configured and tested prior to the rollout. After CRS-1 routers were placed in production, a
need arose to engage Cisco TAC to perform troubleshooting and diagnosis on the routers. It was noted that while all
service provider operations staff could access the routers from the private IP-based management network, Cisco TAC
could not access the router because its connection was coming in on the inband 10-Gigabit Ethernet ports. The VTY
line ACLs were configured to allow the Cisco TAC source IP address, but that did not fix the problem. 

What is a possible cause for the lack of connectivity? (Choose one.) 
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A. Local packet transport service is misconfigured. 

B. The Cisco IOS XR administration plane is misconfigured. 

C. The Cisco IOS XR IPv4 virtual address is not configured to be used as a source address. 

D. Management plane protection is misconfigured. 

E. WDSysMon is monitoring the incoming connection and disallowing it. 

Correct Answer: D 

 

QUESTION 3

Certain tools conduct ongoing polling of a network device or managed system to determine its status and availability,
and they generate an alert (event) for any exceptions that require a response or action. According to ITIL?v3 framework,
which type of monitoring do these tools perform? 

A. passive 

B. active 

C. reactive 

D. proactive 

Correct Answer: B 

 

QUESTION 4

Assume that you have to manage a network with several remote locations. You are told that you need to collect
performance data from each remote location to access the total traffic that goes to the corporate office, that go to other
remote locations, and that go outside of the organization. Your low-bandwidth WAN connection that goes to the NOC
does not have enough bandwidth to allow for export of all of the data from the remote locations. What other option
should you pursue? 

A. Use time-division multiplexing algorithms to estimate performance data based on WAN bandwidth. 

B. Use baseline performance information to calculate offset based on WAN bandwidth. 

C. Use IF-MIB and CISCO-IF-EXTENSION-MIB to measure egress transmission efficiency. 

D. Use a remote-management application to collect data at the remote site and send back the aggregated information. 

E. Use historical data to estimate information at remote locations. 

Correct Answer: D 

 

QUESTION 5

Why are thresholds defined based on baseline documents? 
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A. to ensure that QoS parameters are defined appropriately 

B. to help identify current network problems and predict future bottlenecks 

C. to suppress duplicate alarms and allow for event correlation 

D. to reduce polling traffic on the network 

E. to verify that interfaces are in the correct state 

Correct Answer: B 
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